
Summer Test 3 
Name: Class: Date: 

Arithmetic Practice Tests YEAR 4 © Rising Stars UK Ltd. 2015 

 

1  = 236 + 60 

 

 

2 43  1 =  

 

       

3  –  =  

 

 

4  of 12 =  

 

       

5 21 ÷ 1 =  

 

 

6  = 7  5 

 

       

7  250 ÷  = 5 

 

 

8 504  0 =  

 

       

9 76 –  = 35 

 

 

10 
 
 

  7 4 
+ 6 9 

 

       

11 
  

   

3 81)  

 

 

12  110  10 =  

 

       

13  = 5  3  6 

 

 

14   2 7 
    4 
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15  +  =  

 

 

16   2 5 6 
     2 

 

       

17   1 3 2 3 
+ 6 7 8 7 

 

 

18   5 6 4 
– 1 8 7 

 

       

19 2   = 76 

 

 

20 108 ÷ 12 =  

 

       

21   4 5 8 
     6 

 

 

22  = 2  56  5 

 

       

23   5 0 0 0 
– 2 3 4 1  

 

24  ÷ 7 = 23 

 

       

25 5  45  4 =  

 

 

  
 

 

 
…….. times table …….. times tables 

1 x         = 1 x        = 

2 x         = 2 x        = 
3 x         = 3 x        = 

4 x  4 x  

5 x  5 x  

6 x  6 x  

7 x  7 x  
8 x 8 x 

9 x 9 x 
10 x 10 x 

11 x 11 x 

12 x 12 x 

Total marks /25 


